
We have learnt about… Hurricane Katrina        

How is this different to…   Cyclone Nagis? 

Cyclone Nargis struck Burma on 3 May 2008. The area it struck was a low-lying delta to the 

south. With it came strong winds of up to 210 kilometres per hour. It was classified as a 

Category 4 (Katrina was a 5) cyclone on the Saffir-Simpson scale. 

Much of the devastation was a result of the storm surges (similar to Katrina) which swept 

up the river channels from the delta. 

 

 

 

 

 

 

 

 

 

Using B4 of your knowledge organiser, the image 

and your own knowledge – explain how countries 

can prepare for Hurricanes.  
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We have learnt about… the earthquake in Nepal                   

How is this different to…   Haiti? 

Haiti is part of a large Caribbean island called Hispaniola. The Dominican Republic is 

located to the east of Haiti and covers over half of the island. 

Cause of the earthquake 

Haiti lies right on the boundary of the Caribbean and North American plates. There was 

slippage along a conservative plate boundary that runs through Haiti. 

On 12 January 2010, a magnitude 7 earthquake hit Haiti at 16:53 local time. The 

earthquake's epicentre was 25 km west of Port-au-Prince, the capital. Most people, 

businesses and services were located in the capital. 

TASK: RESEARCH THE HAITI 2010 EARTHQUAKE AND COMPLETE THE TABLE BELOW 

 

 

 

 

 

Label this diagram showing a destructive plate margin. 

 

 

 



We have learnt about… movement of people in RIo  

How is this different to…   migration in London? 

London has also been greatly affected by migration. The large number of financial and 

knowledge-based job opportunities has attracted people from elsewhere in the UK and 

the rest of the world. In 2011, 191,000 people from elsewhere in the UK moved into London 

seeking employment. 

It is estimated that up to a third of all international migration into the UK is into London. As 

a result, London has the most culturally-diverse population in the UK. It also has a different 

population structure to the rest of the UK, as it has many more young people and fewer 

older people.      TASK: 

 

 

Use B2 of your 

knowledge organiser 



We have learnt about… extreme weather in the UK   

How is this different to…   the wildfires in Australia   

Record-breaking temperatures and months of severe drought have fuelled a series of massive 

bushfires across Australia. At least 33 people have been killed - including four firefighters - and 

more than 11 million hectares (110,000 sq km or 27.2 million acres) of bush, forest and parks across 

Australia has burned. 

Identify CAUSES / EFFECTS / MANAGEMENT of the 2019 Australian Wildfires 

Creeks and rivers dried up 

causing the organisms relying on 

them to die or migrate. 

Increased soil erosion destroyed 

vegetation and the creatures 

which relied on it to survive. 

Each year there is a fire season 

during the Australian summer, 

with hot, dry weather making it 

easy for blazes to start and 

spread. Global warming is 

making these worse 

Australia has drafted in 3,000 

army personal to assist 

3,800 firefighters have been 

tackling the blaze  

Record-breaking temperatures 

and draught have helped causes 

the wildfires 

Significant loss of livestock and 

crops. Some farmers had to sell 

machinery, land or even move 

elsewhere and lose their 

livelihood. 

Using aircraft to "firebomb" water 

onto fires or drop retardant from 

the sky above 

With fewer crops and livestock, 

Australia had to import more 

food. This increased the price of 

food for the whole country. 

Destructive farming practices 

enable a vicious cycle of 

warming and wildfires 

Droughts degrade the quality of 

the soil, affecting farming for 

years to come. 

Using bulldozers to create 

"firebreaks" - gaps in vegetation 

that help slow the advance of 

flames. 

 

UK HEATWAVE 

Many parts of Europe saw their temperature records broken during the summer of 2003, including 

the UK. A sweltering 38.5°C was recorded in Kent on 10 August 2003, a record high which still 

stands today. 

Using B5 & 6 of your knowledge organiser – answer these questions: 

1) What type of air pressure caused the heatwave?  
 

2) What tourist attraction closed due to the extreme heat?  
 

3) How many people died?   20 /   200  / 2000  

 
4) What type of pollution caused 1/3 of all deaths?    

 

 
5) What was  imposed on the UK railways to avoid disaster?  

   

6) What other types of extreme weather can the UK experience? 

 

7) Why is the UK experiencing more extreme weather? 
 

8) Since 1980 by how much as the average temperature increased? 



We have learnt about… Rio’s importance to Brazil  

How is this different to…   Birmingham’s importance?   

The city of Birmingham, in England, is an important manufacturing and engineering centre, employing over 

100,000 people in the industry and contributing billions of pounds to the national economy. 

Task: using colours – categorise into National (Birmingham’s importance to the UK) or international 

(worldwide importance) 

Case Study – Birmingham’s Importance 

Location: _________________________________ 
 

Categorise into National or International importance.  
 

Direct rail links to 

many UK cities. Used 

by over 34 million 

people per year 

Over 300 companies 

from outside of the 

UK are based in 

Birmingham. 

Birmingham has over 

9 million users in 2014.  

Rated in the top 15 

best cities in Europe in 

2009  

New Street Station is 

the busiest station 

outside of London  

Birmingham airport 

connects the city to 

Africa, South America 

as well as US and 

China.  

Excellent job 

opportunities 

including 200 UK law 

firms 

Damage of the flood 

estimated to be over 

£100 million.  

£13 billion invested in 

infrastructure over the 

next decade to 

make it a city of 

global importance 

Birmingham is one of 

the greenest UK cities 

with over 8,000 acres 

of parks  

Birmingham’s 

hippodrome is the 

busiest theatre in the 

UK with over 500K 

visitors per year 

Major companies 

such as Cadbury and 

Jaguar are located in 

Birmingham  

  

Case Study – Rio de Janeiro 

Location: __________________________________________________________________________________ 

____________________________________________________________________________________________ 
 

Challenges or solutions? 
 

Unemployment rates in the 

favelas are over 20%. 

In 2013 only 55% of the city 

had a local family health 

clinic. 

In Rio, only half of children 

continue their education 

beyond the age of 14. 

Guanabara Bay is highly 

polluted, over 200 tonnes of 

raw sewage pours in to the 

bay each day. 

Overseas aid has been used 

to build 12 new sewage 

works and 5km of sewage 

pipes have been built to 

decrease pollution. 

The authorities have tried to 

improve access to 

education by giving grants 

to help them afford the cost 

of schooling. 

Drug trafficking and street 

crime are often controlled 

by powerful gangs. 

Health clinics have been 

built within the favelas and 

are clearly signposted. 

Pacifying police units (UPP’s) 

were established to reclaim 

favelas from drug 

dealers/gang leaders. 

 

Use G4 of your knowledge organiser, using two colours, sort the boxes into 

challenges or solutions 

 



We have learnt about… the destruction of the environment in Sahel, Africa  

How is this different to…   deforestation in Malaysia   

Malaysia has the world's highest deforestation rate. Malaysia's total forest loss since the year 2000 

is 47,278 square kilometers (18,244 square miles), an area larger than Denmark. 

Case Study – Deforestation in Malyasian Rainforest 

Colour code the boxes to show causes, impacts and management.  

Location: __________________________________________________________________________________ 

_____________________________________________________________________________________________ 
Malaysiaõs forests are increasingly 

being converted for industrial oil 

palm plantations. Between 2000 -

2012 Malaysia’s oil palm estate 

grew by roughly 50 percent  

Intensive logging of Penan areas 

began in the 1960s. Now there are 

rivers are filled with silt not fish. Tribal 

people have moved to the cities 

where they get sick from drinking 

polluted water and have trouble 

growing rice.  

Deforestation has already left 

thousands homeless. Without trees 

and plants to absorb heavy rainfalls, 

deforestation has caused erosion 

and faster runoff, which has led to 

larger and more frequent flood in 

Sarawak and Sabah 

Deforestation will release some of 

the carbon stored in the rainforest 

into the atmosphere contributing 

to global warming. 

Selective logging – where only some 

trees are cut down, these trees are 

also taken out of the rainforest via 

helicopter.  

Landless farmers cut down the trees 

so they have land in order to farm, 

some farmers need more land as 

their current land is unusable. 

Ecotourism is encouraged, only a 

small number of visitors are 

allowed at a time.  

Malaysia had the world’s highest rate 

of forest loss between 2000 and 2012. 

Local people in Sarawak cut and 

burn patches of forest and grow 

crops such as hill rice, cassava and 

fruit crops in the ash-enriched soil. 

The Malaysian government has 

promised that 50 percent of 

Malaysia will remain covered by 

forests and has urged other 

developing countries to make 

similar commitments 

The Malaysian government sponsored 

migration programs to open up 

rainforest for cash crop production. 

Between 1956 and the 1980s, 

Malaysia converted more than 15,000 

square kilometres of forest for 

population resettlement programs. 

International hardwood agreement 

has reduced illegal logging and 

promoted sustainable 

management.  

Exam Question: For a tropical rainforest you have studied, assess the extent to which deforestation 

benefits the people who live there. (9 marks) 

 

 

 

What does this graph show? 

 

Using T.E.A describe this graph 

 

 

What is the reason behind this? C2 

 

 



We have learnt about… water pollution in Rio  

How is this different to…   pollution in the UK? 

40% OF RIVERS IN ENGLAND AND WALES POLLUTED BY SEWAGE. River health is one of the 

UK's most urgent environmental crises. ... But far too many of our rivers are polluted with 

sewage, and water companies and government are not doing enough to prevent it. 

According to the World Health Association the UK’s water pollution is moderate – 

compared to Rio’s severe rating. 

 

A lot of the pollution comes from raw sewage. Roughly half of the houses in de Janeiro 

remain unconnected to sewage treatment plants. That means waste from millions of 

people flows untreated into the Guanabara bay / Atlantic Ocean. 

Sort the cards below into problems and solutions to Rio’s water  

 

 

 

 

 



We have learnt about… the Thar Desert in India  

How is this different to…   the Western Desert in the USA   

 
Using the picture and table to help; what tourism 

opportunities do you think there are in the Western 

Desert? 

 

 

 

 

 

 

 

 

Using A6 of your knowledge organiser 

Describe the distribution of volcanoes and 

earthquakes 

 

 

 



We have learnt about… the climate in a desert                   

How is this different to…   Antarctica? 

 

 

 

 

 

 

Using C3 of your knowledge organiser 

Fill in the table outlining the evidence we 

have that our climate is getting warmer 

 

 

 

Using your knowledge organiser Describe the climate found in deserts. 

 

These words might help: temperature, high pressure, varies, little rainfall, extreme, 

>250mm a year, 5-30°. 

 

 



We have learnt about… urban regeneration in Rio                   

How is this different to…   London? 

Both London and Rio have recently held 

the Olympic Games. Both cities 

regenerated areas. Using 4 colours for 

‘reasons’ ‘features’ & ‘impacts’ complete 

the table below.   

 Using A2 of your knowledge organiser 

1) Label the structure of the earth  

2) What is the crust split into? 

 

 

3) Describe the characteristics of an 

oceanic crust 

 

4) Describe the characteristics of a 

continental crust 

 

 


